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  

𝑇𝑗 = 𝑇𝑐𝑎𝑠𝑒 + 𝑃𝑡𝑜𝑡𝑅𝑇𝐻𝐽𝐶 = 𝑇𝑐𝑎𝑠𝑒 + 𝐼𝐷
2𝑅𝐷𝑆(𝑜𝑛)𝑅𝑇𝐻𝐽𝐶 = 25°𝐶 + 177 𝐴2 ∗ 1.88 𝑚Ω ∗ 0.4

𝐾

𝑊
= 49°𝐶
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 A =  60mm2

𝑅𝑡ℎ𝑑𝑖𝑒𝑙𝑒𝑐𝑡𝑟𝑖𝑐 =
𝑑

𝜆 ∗ 𝐴
=

120µ𝑚

2
𝑊

𝑚𝐾 ∗ 60𝑚𝑚2
= 1

𝐾

𝑊

𝑅𝑡ℎ𝑗𝑐,𝑚𝑎𝑥 = 0.4
𝐾

𝑊

𝑅𝑡ℎ𝐽𝑆 = 𝑅𝑡ℎ𝑑𝑖𝑒𝑙𝑒𝑐𝑡𝑟𝑖𝑐 + 𝑅𝑡ℎ𝑗𝑐,𝑚𝑎𝑥 = 1 
𝐾

𝑊
+ 0.4

𝐾

𝑊
= 1.4

𝐾

𝑊

𝑃𝑑 = 𝐼𝐷
2 ∗ 𝑅𝐷𝑆(𝑂𝑁)

 

 

√2

 

 

𝛥𝑇 = 75°𝐶





𝑃𝑑

𝑃𝑑 =
𝛥𝑇

𝑅𝑡ℎ𝐽𝑆
=

75°𝐶

1.4𝐾/𝑊
= 53.5𝑊

𝑃𝑑 = 𝑃𝑐𝑜𝑛𝑑 + 𝑃𝑠𝑤  𝑃𝑑 = 𝑃𝑐𝑜𝑛𝑑 + 0.3 ∗ 𝑃𝑑  𝑃𝑑 = 𝐼𝐷
2 ∗ 𝑅𝐷𝑆(𝑂𝑁) + 0.3 ∗ 𝑃𝑑 

53.5𝑊 = 𝐼𝐷
2 ∗ 3.2𝑚𝛺 +  0.3 ∗ 53.5𝑊 𝑰𝑫 = 𝟏𝟎𝟖𝑨𝑷𝒆𝒂𝒌  𝒐𝒓 𝑰𝑫 =

𝟏𝟎𝟖𝑨

√𝟐
= 𝟕𝟔𝑨𝑹𝑴𝑺
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